1.3 Linearne i kvadratne jednacine i nejednacine

1. Resiti jednacine:
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2. Resiti nejednacine:
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Resenja

l.(a) 2 =5, (b)xz =17 (c)z =09, (d)x:3, (e) 2 = —5, () 2 = 4,
g z=1 () z=-1, (G z=1, uslov v # £, (j) v = £a, uslov z # £,
(k) nema resenja, uslov x # £1, (1) z = =5, uslov x 7é -3, (m) z = 16, uslov = # 3,

r# -4, n)r=0iz=-3 (o)ac—l (p)x—2+21x—2—i, (Qz=ii
r=—i, (az=0iz=2(s)z= +1/34, uslov 2 # 4,  (t) nema resenja, uslov
a) r € {—g,—koo), (b) z € {%,—I—oo), (c) =
€ (12,400), (f)z e [-F,+0), (g) v € (—00,—-32], ()
€ (—oo,—%}, (j) x € (—o0,—2) U( , +00),
(n) z € (—o0, —4)U(%, +oo),



